
𝐿 = න 𝑑𝑠
௕

௔
𝑑𝑠 = ඨ1 + ቆ

𝑑𝑦

𝑑𝑥
⎯⎯⎯ቇ

ଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯

 

𝑑𝑥 𝑦 = 𝑓(𝑥)

   𝑦 = 𝑥
𝑑𝑦

𝑑𝑥
⎯⎯⎯= 1

𝐿 = න 𝑑𝑠
௕

௔

𝐿 = න √2
⎯⎯ 

 𝑑𝑥
ସ

଴

𝐿 = √2
⎯⎯ 

 𝑥

𝐿 = √2
⎯⎯ 

(4 − 0)

𝐿 = 4√2
⎯⎯ 

𝑑𝑠 = ඨ1 + ቆ
𝑑𝑦

𝑑𝑥
⎯⎯⎯ቇ

ଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯

 

𝑑𝑥

𝑑𝑠 = ඥ1 + (1)ଶ
⎯⎯⎯⎯⎯⎯⎯ 

𝑑𝑥

𝑑𝑠 = √2
⎯⎯ 

 𝑑𝑥

𝑎ଶ + 𝑏ଶ = 𝑐ଶ

4ଶ + 4ଶ = 𝑐ଶ

            𝑐 = 4√2
⎯⎯ 

𝑑𝑠 = ඨ1 + ቆ
𝑑𝑥

𝑑𝑦
⎯⎯⎯ቇ

ଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯

 

𝑑𝑦 𝑥 = 𝑓(𝑦)

   𝑦 = 𝑥ଶ

𝑑𝑦

𝑑𝑥
⎯⎯⎯= 2𝑥

𝐿 = න ඥ1 + 4𝑥ଶ
⎯⎯⎯⎯⎯⎯⎯ 

 𝑑𝑥
ଶ

଴

𝐿 = 4.65

𝑑𝑠 = ඨ1 + ቆ
𝑑𝑦

𝑑𝑥
⎯⎯⎯ቇ

ଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯

 

𝑑𝑥

𝑑𝑠 = ඥ1 + (2𝑥)ଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯ 

𝑑𝑥

𝑑𝑠 = ඥ1 + 4𝑥ଶ
⎯⎯⎯⎯⎯⎯⎯ 

 𝑑𝑥

4
0

4

2

𝑎ଶ + 𝑏ଶ = 𝑐ଶ

2√5
⎯⎯ 

= 4.47

4.65 > 4.47

Obviously!

𝑦 = 𝑥

4

2

4

4

𝑦 = 𝑥ଶ

Rotation around x-axis

Rotation around y-axis 𝑆𝐴 = න 2𝜋𝑥𝑑𝑠
௕

௔

𝑆𝐴 = න 2𝜋𝑦𝑑𝑠
௕

௔

𝑦 = ඥ9 − 𝑥ଶ
⎯⎯⎯⎯⎯⎯ 

0 ≤ 𝑥 ≤ 3
𝑆𝐴 = න 2𝜋𝑦𝑑𝑠

ଷ

଴

𝑆𝐴 = න 2𝜋ඥ9 − 𝑥ଶ 
⎯⎯⎯⎯⎯⎯  3

√9 − 𝑥ଶ⎯⎯⎯⎯⎯⎯ ⎯⎯⎯⎯⎯⎯⎯ 
ଷ

଴

𝑑𝑥

𝑆𝐴 = න 6𝜋 
ଷ

଴

𝑑𝑥

𝑆𝐴 = 6𝜋𝑥

𝑆𝐴 = 6𝜋(3 − (0))
𝑆𝐴 = 18𝜋

𝑑𝑠 = ඨ1 + ቆ
−𝑥

√9 − 𝑥ଶ⎯⎯⎯⎯⎯⎯ ⎯⎯⎯⎯⎯⎯⎯ቇ

ଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

 

𝑑𝑥

𝑑𝑠 = ඨ1 +
𝑥ଶ

9 − 𝑥ଶ
⎯⎯⎯⎯⎯⎯

⎯⎯⎯⎯⎯⎯⎯⎯⎯
 

 𝑑𝑥

𝑑𝑠 = ඨ
9

9 − 𝑥ଶ
⎯⎯⎯⎯⎯⎯

⎯⎯⎯⎯⎯⎯
 

 𝑑𝑥

𝑑𝑠 =
3

√9 − 𝑥ଶ⎯⎯⎯⎯⎯⎯ ⎯⎯⎯⎯⎯⎯⎯ 𝑑𝑥

  𝑦 = ඥ9 − 𝑥ଶ
⎯⎯⎯⎯⎯⎯ 

𝑑𝑦

𝑑𝑥
⎯⎯⎯=

−𝑥

√9 − 𝑥ଶ⎯⎯⎯⎯⎯⎯ ⎯⎯⎯⎯⎯⎯⎯

3
0

𝑆𝐴 = න 2𝜋ඥ9 − 𝑦ଶ
⎯⎯⎯⎯⎯⎯  3

ඥ9 − 𝑦ଶ⎯⎯⎯⎯⎯⎯ 
⎯⎯⎯⎯⎯⎯⎯  𝑑𝑦

ଷ

଴

…
SA = 18π

𝑥 = ඥ9 − 𝑦ଶ
⎯⎯⎯⎯⎯⎯ 

𝑑𝑥

𝑑𝑦
⎯⎯⎯=

−𝑦

ඥ9 − 𝑦ଶ⎯⎯⎯⎯⎯⎯ 
⎯⎯⎯⎯⎯⎯⎯

𝑆𝐴 = 4𝜋𝑟ଶ

𝑆𝐴 = 4𝜋(3)ଶ

𝑆𝐴 = 36𝜋 ÷ 2
𝑆𝐴 = 18𝜋

Geometry
Check

𝑑𝑠 = ඨ1 + ቆ
𝑑𝑥

𝑑𝑦
⎯⎯⎯ቇ

ଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯

 

𝑑𝑦

𝑑𝑠 = ඨ1 + ቆ
−𝑦

ඥ9 − 𝑦ଶ⎯⎯⎯⎯⎯⎯ 
⎯⎯⎯⎯⎯⎯⎯ቇ

ଶ
⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯⎯

 
𝑑𝑦

𝑑𝑠 = ඨ1 +
𝑦ଶ

9 − 𝑦ଶ
⎯⎯⎯⎯⎯⎯

⎯⎯⎯⎯⎯⎯⎯⎯⎯
 

 𝑑𝑥

𝑑𝑠 = ඨ
9

9 − 𝑦ଶ
⎯⎯⎯⎯⎯⎯

⎯⎯⎯⎯⎯⎯
 

 𝑑𝑥

𝑑𝑠 =
3

ඥ9 − 𝑦ଶ⎯⎯⎯⎯⎯⎯ 
⎯⎯⎯⎯⎯⎯⎯  𝑑𝑥
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